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P6.60

For the block to remain stationary, 3 F, = 0 and MF, =ma,. [—:JT
|

The maximum rotation frequency is }

v 1rev 60's
M =y~ (0782 ; ey min |.
pm == m/s)[z;'r(mzo m) }(1 mm) rev/

ny =(mp +mb)g 80 fs.uslnl =.usl(mp+mb)g' 1
At the point of slipping, the required centripetal force equals the ™ v &
maximum friction force: . .
: ny
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.-_(mp+mb) max =ﬂsl(mp+mb)g II ] fp -
OF Vpnay = /#5178 =4/(0.750)(0.120)(9.80) = 0.939 mys. _—_— |
. For the penny to remain stationary on the block: | my, gl { mg
ZFy=O:>nz—mpg=O orny =m,g / -
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and Y F, =ma, =1, =mpv—. .
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When the penny is about to slip on the block, fo = fp, max = Hs2112 ' —
2
o =y Zmax.
T /-‘szmpg mP r - ‘ N v mpg‘
Vmax = /5278 =4/(0.520)(0.120)(9.80) = 0.782 mys FIG. P6.60
This is less than the maximum speed for the block, so the penny slips before the block starts to slip



